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An enlargement is a type of transformation .
/ that involves making a shape larger or smaller. Transformations How are these lines related? A locus Of poin_‘,s is a set Of\
fo . ! . .
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Enlargement by a positive integer is from A and B. S
factor A [ The orange line bisects the green line. | ever erase yOUr . .
St iactol - \ j e construction lines! Find the locus of points 3cm from AB
To enlarge a shape by a negative scale factor, 2: t?re_gri’ :t':lea/&ge the shape by scale C t t th
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1) Draw a point on each - Ul—R2 %" . .
vertex e ttor s o e DS I8 At perpendicular bisector Draw an acute angle on your page. Open your compass to 3cm
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ata time) D3=RE -6 : 1) Draw an arc from the vertex.
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3) Multiply the distance by the e O . B (2) Draw two more equal arcs
Scalefactor e = from the intersections. Join them together with straight lines
4) Draw on the new points and . q o
Join them up | / Describing an enlargement (3) Join the new intersection
up to the vertex.
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Enlargement of scale factor 2 with a straight line.
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